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When you go travel, what will do?

To study; to look To understand; to informed
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C—" To look up the route.
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For narrative _
with verb

Indicating the beginning of an action
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with verb

Indicating the beginning of an action
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with adj. Adj.+iLE T

An action or statement starts changing

When black Friday has been started, there are
more and more people in the mall.
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with adj. Adj.+iZk T

An action or statement starts changing
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with adj. Adj.+EE T
An action or statement starts changing
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conjunction ﬁﬁ

1 is used to connect two clauses that
represent the different or contrasting
characteristics or situation.

similar to = 7T
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conjunction ﬁﬁ

i is used to connect two clauses that
represent the different or contrasting
characteristics or situation.

similar to =T
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huge crowded of people
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The tram is full of people everyday.
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main- principle To concentrated; to centralize
| )

The area around a particular place
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Means 7% £ ... #adj.J(none can surpass)

It’s a rather strong expression




A ... Fadj.H)

none can surpass
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none can
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surpass




A ... Fadj.H)

none can surpass
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A ...

¥adj.H

none Can surpass
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Means 7% £ ... #adj.#J(none can surpass)

It’s a rather strong expression
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ﬂg T (in order to)

denotes purpose

V.S

|j(| ﬂg (because)

denotes cause
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. j] because denotes cause

Halways follow with FrLL”
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rpose
denotes purp
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. jj because

denotes cause

JJalways follow with FrLL”
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ﬂ\] T in order to denotes purpose

The purpose can be put at the second clause
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Scholarship
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. j] because denotes cause

JJalways follow with FrLL”

| want to get the scholarship, so | applied this school.

Scholarship

ANABHREXMERNRESE
Fﬁu? \E\LFE?‘&EIJO




ﬂﬂ T (in order to)

denotes purpose

V.S

ﬂﬂ (because)

denotes cause
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condition terrain; topography

Rivers

Hills

_ Lakes




area(of a floor, piece of land etc.) To celebrate a holiday

Measure word for times
by which something is multiplied
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To travel; travel scenic spot

all around; all over
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province

part; section spring-like all year around
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small number; minority ethnic

DI

shaoshu




| l In an instant

— [ is equivalent to — |, It means “not much

time has gone by”, and it’s often used to depict

how fast or soon actions or things happen.




In an instant

“not much time has gone by”
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In an instant

“not much time has gone by”
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In an instant

“not much time has gone by”

| took only five minutes
to finish my homework.
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In an instant

“not much time has gone by”
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| l In an instant

“not much time has gone by”




mostly

%

Is an adverb meaning for “the most part” or “mostly”

It cannot be used before nouns




mOStly It cannot be used before nouns

Mostly are girls

BANBENEZF N L E 2

)+




mOStly It cannot be used before nouns
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mOStly It cannot be used before nouns




mostly It cannot be used before nouns
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mostly

%

Is an adverb meaning for “the most part” or “mostly”

It cannot be used before nouns
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pne has had the experience of doing something, we use t
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He has this experience
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He has this experience
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I:l Spoken Chinese

rvarticle occurs after a subject or topic and followed by a pause in s




I]E Spoken Chinese

varticle occurs after a subject or topic and followed by a pause in s
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I]E Spoken Chinese

varticle occurs after a subject or topic and followed by a pause in s
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I]E Spoken Chinese

svarticle occurs after a subject or topic and followed by a pause in sg
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ttps://drive.google.com/file/d/1qu0QdqskWQN8p3SdO0OMAEINusdnjsgkS/view?usp=sharin
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